iTiE
EFREHF T8 11 5 1410 N—VH 4 TRV BTSVELIZO T FRROEBVFTIEVZLET,
THEBEBPILELIZZLZ LIV BRURL LI ET,

78 %% 11 5 1410 ~—3 X 4

m)
|
i
&2

=
(ng/mL)
500 9 y=900x+1.238
r=0.993
n=126
400 |
&
I
2
= 300 o
-
X
JAN
12 o 101
X200 1 e
A =
N
N
100 3
20 40 60 80 100
mon—y A T @/mL)
0 T T T T 1
0 100 200 300 400 500
LN — Y AR Tell (ng/mL)
B4 TgAbBTERIAROH X
(1F)
(ng/mL)
500 7 y=0.900x+1.238
r=0.993
n=126
400 |
&
I
2
& 300
-
N
AN
X
K200 |
3
<
o
2
100 |
- 0 20 10 60 80 100
==y At Tgn (ne/ml)
0 T T T T 1
0 100 200 300 400 500
LU= AR Tell (ng/mL)
R4 TgAbBPEM RO HBIR

GTIEERT ——)



